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NeES FUHBALA BS 23 148,178 149,126 £948
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Hes =UFHeH 80,060 80, 160 A 100
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02 232l 15,907 2,621 3,286
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Ozl eE e A 2,160,0002 2,160 2,400 £.240
Hes s 35,861 39,845 ~3,984
201 Yer2 | 14,477 16,085 A1,608
01 AL 22l 8,177 9,085 908
O+ gl A 7,277,002 7,277 8,085 £808
OXNFUXE 23 900,0008 900 1,000 A100
02 2Bl 6,300 7,000 AT00
OsE23 A 6,300,0009 6,300 7,000 AT00
202 04t 21,384 23,760 £2,376
01 =Ly o1 bl 21,384 23,760 £2,376
OJl=2+80HI(1121)  2F 21,384,000 21,384 23,760 ~2,376
Hes AAB2AN L 1,350 1,500 A150
201 2Lur2 A H| 1,350 1,500 A150
02 232l 1,350 1,500 A150
OFag A2l SN2l
33 1,350,000 1,350 1,500 A150
Nes sy 47,115 48,859 A1,784
Hes J=A 19,144 20,888 A1,784
Hes JeB 19,144 20,888 A1,744
201 YEr2 | 7,964 8,848 884
01 Ak 22l 7,964 8,848 884
L VX=X 3 6,300,0008 6,300 7,000 AT00
OEET HH 1,664,0002 1,664 1,848 A 184
202 01t 1,800 2,000 A200
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SN FH-SA(EN) - MBAY - BES

Off &t 24

01 SLHOYI 1,800 2,000 A 200
O22 0l & & 1,800,000& 1,800 2,000 A 200
203 R =& 9,380 10,040 A 660
01 J122gg 2= 5,940 6,600 A 660
OJlZ2gdg2F8l Z & 5,940,000 5,940 6,600 A 660




